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Jbsoll 2 XA (XA 30,000 30,000 0
301 LEtE A= 30,000 30,000 0
1MIIEBEAS 30,000 30,000 0
OJ)=E M2 g X 60,000, 000& *50% 30,000
IR2=E M2 A4S Z017] 82,500 0 82,500
402 RIZ2FX20l A 82,500 0 82,500
01 It 2 AL B X 82,500 0 82,500
OERZE Mz Xts =017
550, 000& *3004! x50% 82,500
Yo = A2 =200 X 40,000 0 40,000
402 RI2EX=20l A 40,000 0 40,000
01 It AL E X 40,000 0 40,000
OgddalE Atz U3 S017]
8,000,000& 104! x50% 40,000
OlsXt= 20121 WH 40,500 0 40,500
402 2I2H X201 M 40,500 0 40,500
01 It 2 AL E X 40,500 0 40,500
O0IRA= =021 WM 270,000 »3004! *50% 40,500
X 22 Zue &IAd 30,000 0 30,000
402 RIZER20l A 30,000 0 30,000
01 It 2 AL E X 30,000 0 30,000
ouuX 22 gue &JAA
20,000, 000& *37H 2 *50% 30,000
Q=0 R BEI| 2L 21,000 0 21,000
402 BIZEXHE 0| A 21,000 0 21,000
01 It 2 AL E X 21,000 0 21,000
OLEsIH XIoF EAI| ¢
14,000,000 & *3CH x50% 21,000
=AF W2 &HIIAIE wHd XN& 52,500 0 52,500
402 2I2H X201 M 52,500 0 52,500
01 22t AP E X 52,500 0 52,500
O=At LHE HEIIAIE LA
15,000, 000& *7 4! x50% 52,500
A= RO MDY 10,000 15,000 A5,000
402 RI2HXt20l 10,000 15,000 A5,000
01 2I2tt= AP E X 10,000 15,000 A5,000
O A= ot EAI| 2
10,000, 000& *2[CH x50% 10,000
& =ob g A2 £X 20,000 20,000 0
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01 It 2 AL E X 20,000 20,000 0
O% =ot & AH2U £X
20,000, 000& *2J4 2 *50% 20,000
HA AR AE I XHTH 24,000 0 24,000
402 RI2FX=201 M 24,000 0 24,000
01 It 2 AL E X 24,000 0 24,000
OAHAMN HASF AlE JIXHIH
6,000,000& =84l x50% 24,000
HAE HIIAIE &X 8,000 0 8,000
402 QI2H X201 M 8,000 0 8,000
01 22t AP E XL 8,000 0 8,000
OH AL HIIAIE AX 8,000
QA= B 4EI| 7Y 12,000 0 12,000
402 RI2FX=201 M 12,000 0 12,000
01 It 2 AL E X 12,000 0 12,000
OLH=I &H &x)| 2¢
,000, 000& *3CH *50% 12,000
HALW S O1AIE & X 15,000 0 15,000
402 2I2H X201 M 15,000 0 15,000
01 B2t AL E X 15,000 0 15,000
OAIAMU EIIAd &X 120,000& *250CH 50% 15,000
S s+=2 §x=AME £X 30,000 0 30,000
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J| 105,000
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2l 105,000
01 B2t AL E X 105,000 0 105,000
O=AtAIZE Hat XI& 350,000, 000& *30% 105,000
J| 105,000
=2 M 2435 772,212 955,235 A 183,023
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= 7,650
= 17,850
OHY| AL H| X & 113,000 160,000 AN47,000
J| 56,500
& 16,950
= 39,550
301 LBt A= 113,000 160,000 AN47,000
J| 56,500
& 16,950
= 39,550
11 JIEtE A2 113,000 160,000 AN47,000
O M| a2l X & 200, 000& *565ha 113,000
J| 56,500
= 16,950
= 39,550
EASIE 2 F X A (=) 33,600 33,600 0
= 10,080
= 23,520
307 212t0| ™ 33,600 33,600 0
=} 10,080
= 23,520
02 IZHBAAIE E X 33,600 33,600 0
OF NS LFEX WA
5,000& *11,200kg*60% 33,600
o= 10,080
= 23,520
ShsIE A FUX A 45,000 0 45,000
307 QI2t0| & 45,000 0 45,000
02 QI2tAAMAIE E =X 45,000 0 45,000
O=FAtsIF AU F X NS (XA
5,000& %15, 000kg*60% 45,000
EEL 28N N (EH|) 15,000 15,000 0
& 4,500
= 10,500
307 giztol A 15,000 15,000 0
& 4,500
= 10,500
02 QI2tAAMAIE E =X 15,000 15,000 0
OIEEL ==& XA
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s =2X2&8 M & 40,000 0 40,000
307 giztol A 40,000 0 40,000
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OII=EEe =22 XN&
160& 500, 000kg*50% 40,000
EAMAE SEIMNSAE (S HI) 7,000 9,870 N 2,870
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402 RI2EX20| A 7,000 9,870 N2,870
< 3,000
i 4,000
01 It 2 AL E X 7,000 9,870 N2,870
OSMAIE SZHLAS 7,000
< 3,000
[ia 4,000
SAAE 3 30,000 24,000 6,000
402 RIZ2EXt20l 30,000 24,000 6,000
01 A TtEAEEX 30,000 24,000 6,000
O=AAIE S3HE ALY
600,000 * 100CH *50% 30,000
IEEE SS(HE)MelAE & 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
02 HAFHAANFEE 6,000 6,000 0
ON=EZ2=AESAE 2EH XA
500,000& = 12& 6,000
=AF SFHEM HZAE & 90,000 120,000 A 30,000
402 RI2EX20| A 90,000 120,000 A 30,000
01 It AL E X 90,000 120,000 A 30,000
O= A AHLY HBTALE &EX
60,000, 000& =34l x50% 90,000
D =2eldl WH ALY 70,000 0 70,000
402 QI2H X201 M 70,000 0 70,000
01 B2t AL E X 70,000 0 70,000
O10NY Zeldl uH At
20,000,000& *7 4! x50% 70,000
HHMEE W =il ™eal 37,500 0 37,500
307 21201 A 37,500 0 37,500
02 It S AIHE L 37,500 0 37,500
OMHIMEX LS scdel ™el
2,500,000& *302| *50% 37,500
WY MEZER ZIIAIE 4X 31,250 0 31,250
402 RIZ2HXt20l 31,250 0 31,250
01 It TtEAEEX 31,250 0 31,250
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H=zHdel DI K& 10,000 0 10,000
402 RI2EX=20l A 10,000 0 10,000
01 It 2 AL E X 10,000 0 10,000
OAEHXel IR XI& 20,000,000 14l *50% 10,000
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O=0dz=z 12,672,000& *4.5% 571
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ol Ot A BAS M (crl ®a)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oglad Fotaeld & EF4detd HAME
-2 1,000,000 «205 20,000
EUHEHHSIHLYIEAE L ALY 80,000 70,000 10,000
206 M= Hl 80,000 70,000 10,000
01 M= 4l 80,000 70,000 10,000
OEHMEFENWSIH LAAFT & YA AZF
=2 20,0003 *4,0005% 80,000
QN2 LHESRNEXN R AL 48,000 48,000 0
= 24,000
< 7,200
s 16,800
307 glz2tol & 48,000 48,000 0
= 24,000
< 7,200
s 16,800
02 PIZHE M AHE X 48,000 48,000 0
OHXNAZHEE X=X ALY
10,000,000 *8IH A x60% 48,000
= 24,000
< 7,200
i 16,800
DEENXES MIIsES 9,000 9,000 0
= 4,500
s 4,500
206 M= Hl 9,000 9,000 0
= 4,500
s 4,500
01 M= 4l 9,000 9,000 0
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